
Opérations avec deux fractions mixtes (J)

Nom: Date: Note:

Calculez chaque résultat.

1. 1 815 × 547 = × = = =

2. 512 − 112 = − = = =

3. 41120 ÷ 535 = ÷ = × = =

4. 512 ÷ 51516 = ÷ = × = =

5. 534 + 134 = + = = =

6. 11119 × 535 = × = = =

7. 579 + 129 = + = = =

8. 523 + 156 = + = = =

9. 534 ÷ 216 = ÷ = × = = =

10. 513 − 313 = − = = =
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Opérations avec deux fractions mixtes (J) Réponses

Nom: Date: Note:

Calculez chaque résultat.

1. 1 815 × 547 = 23
15 ×

39
7 = 897

105 = 299
35 = 81935

2. 512 − 112 = 11
2 − 3

2 = 8
2 = 4

1 = 4

3. 41120 ÷ 535 = 91
20 ÷

28
5 = 91

20 ×
5
28 = 455

560 = 13
16

4. 512 ÷ 51516 = 11
2 ÷ 95

16 = 11
2 × 16

95 = 176
190 = 88

95

5. 534 + 134 = 23
4 + 7

4 = 30
4 = 15

2 = 712

6. 11119 × 535 = 30
19 ×

28
5 = 840

95 = 168
19 = 81619

7. 579 + 129 = 52
9 + 11

9 = 63
9 = 7

1 = 7

8. 523 + 156 = 17
3 + 11

6 = 45
6 = 15

2 = 712

9. 534 ÷ 216 = 23
4 ÷ 13

6 = 23
4 × 6

13 = 138
52 = 69

26 = 21726

10. 513 − 313 = 16
3 − 10

3 = 6
3 = 2

1 = 2
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